bllp s e L —o Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
5,56 x 100000 = 4,8 x 100 =
8,707 x 100 = 4,886 x 100 =
1,838 x 10000 = 5,732 x 1000 =
10,452 x 10 = 5,733 x 100000 =
6,91 x 100000 = 4,109 x 1000000 =
6, 874 x 1000000 = 5,372 x10=
9,27 x 1000000 = 8,315 %1000 =
7,662 x 10 = 4,984 x 10000 =
9,41 x 10 = 5,556 x 1000 =
10,435 x 1000 = 1, 186 x 100000 =
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bllo s B L —o Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
5,56 x 100000 = 556000 4,8 x 100 =480
8,707 x 100 = 870.7 4,886 x 100 = 488.6
1, 838 x 10000 = 18380 5,732 x 1000 = 5732
10,452 x 10 = 104.52 5,733 x 100000 = 573300
6,91 x 100000 = 691000 4, 109 x 1000000 = 4109000
6, 874 x 1000000 = 6874000 5,372 x10=153.72
9,27 x 1000000 = 9270000 8,315 x 1000 = 8315
7,662 x 10 =76.62 4,984 x 10000 = 49840
9,41 x 10 =94.1 5,556 x 1000 = 5556
10, 435 x 1000 = 10435 1, 186 x 100000 = 118600
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